105# 5 MBE 2 et | § % RS R >— 3E
PFF ~ % 2 X 8 & P YR TS 5000450 (&)
; ’— ., o Y LIS W [ - J‘ m
SO S I S ARSNGB G = )
0 B IFELR
R S S %54 ]
R SR NCFEE : TR D
FRER 2P RE
LA T OF R RIFEE
O )R> (T PRSI E PR RREA B ARE L o WAL FEE 2 A58 o

- - HRORRRE S R 3 g e E S g =18 KN/ b ki
nOms TR AL AmicTEATE o KBRS 10ms 4 K2 niE Gk
k=10 m/sec > Hape H4eR TR o 024 K RIS S AR R (Datum) o I F w3t
gwﬂu’%—'m;%ﬁwﬂ A~B~C 2 HI7> D &gz k(e ksp(m)

M WERER AT > X E 4 K2 E‘iwmﬁ/?/ﬁ“f‘_;*v ? (254)

\1

4.,

2N\

A
9m
VL A *1m
7 A
3m
B 6m
10 m
C —Y

St AR IOmM B2 b ¥ B mARS B R FI AR HERFEH R L Ao =110kN/m’
;zz\.h 2 4pfrd 2 F yg =17.5kN/M’ > B 54 #C, =02 > & 545 #C, = (1/5)C,

& I//f"ﬁﬁtc =0.035 cm?/min > 4= 4534 v % =08 T kg 3B &G e 5

lﬁi&{"fb;\fi TR B N E RS IR B T 2 2T R RY

T HeE 2. 80% o

QR PSR BES LR (BRERR K T, =(x/4U?) (154 )

OB w Tl RERL AL F S BRBITIE? (104 )

&‘

;‘1



1056 & PR E 2 FA | B 8 LR R .
PFF ~ % 2 X 8 & P YR TS 5000450 (£
. g - N Th

S oV AR T

B IRETE

N A e

# prigd g (24 F)

= ?"P}i%ﬁ&\# e 4 fl_i*"'&»_"‘ZOmF'&’f_'éé"frﬁff"__pysat_l8kN/m s 353 H =
E 5 Yy =165 KN/M® > 3 T ok 230 £ T 3mue £ ot KB e
@43%@%$%”LWM“@M°%@W%J:%@?$%¢F%*£&%’£

=
‘1

PSR LR TR o (FY TR R L P FEK) (304)
I

0 02 04 06 08 10
0 I T T T

10

151

& (m)

20+

251

30
B4 3R g AR %




